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3. Case Corporation purchased a machine on January
1. 1979, with an estimated useful life of ten
years and no salvage. The machine was
depreciated by the double declining balance
method for both financial statement and income
tax reporting. On January 1, 1984, Case
changed to the straight-line method for financi
statement reporting but not for income tax
reportfng. The accumulated depreciation from

January 1, 1979, through December 31, 1983, was
$280,000. If the straight-line method had
been used, the accumulated depreciation at
December 31, 1983, would have been $210,000.
Case's effective income tax rate for the years
1979 through 1984 is 50%. The amount shown
in the 1984 income statement for the cumulative
effect of changing to the straight-line
method would be

a. $70,000 debit b. $70,000 credit
c. $35,000 credit d. $0

4. On January 1, 1984, Jasen, Inc., issued
200,000 additional shares of $10 par value
voting common stock in exchange for all of
Wall Company's voting common stock in a
business combination appropriately accounted
for by the pooling of interests method. Net
income for the year ended December 31, 1984,
was $800,000 for Wall and $2,600,000 for Jasen,
exclusive of any consideration of Wall. During
1984 Jasen paid $1,800,000 in dividends to its
stockholders and Wall paid $500,000 in dividend
to Jasen. What should be the consolidated
net income for the year ended December 31,

a. $2,300,000 b. $2,900,000
c. $3,100,000 d. $3,400,000

2y

1984

5. In January 1984 Bell Company exchanged an old
machine, with a book value of $39,000 and a
fair value of $35,000, and paid $10,000 cash
for a similar used machine having a list price
of $50,000. At what amount should the
machine acquired in the exchange be recorded
on the books of Bell?

Assume that purchases were recorded correctly
and that no correcting entries were made at
Dec. 31, 1983, or at Dec. 31, 1984, Ignoring
income taxes, by how much should Terxy's
retained earnings be retroactively adjusted
at January 1, 1985?

a. $13,500 increase b.
c. $ 1,500 decrease

$3,500 decrease
d. $1,000 increase

2. Beal Corporation holds 5,000 shares of its $10
par value common stock as treasury stock, which
was purchased in 1982 at a cost of $60,000. On
December 10, 1984, Beal sold all 5,000 shares
for $95,000. Assuming that Beal used the cost
method of accounting for treasury stock, this
sale would result in a credit to

4. Gain on sale of investments of $35,000
b. Additional paid-in capital of $35,000
C. Retained earnings of $35,000°

d. Capital stock of $50,000

included errors as follows: a. $45,000 b. $46,000
Ending Depreciation c. $49,000 d. $50,000
Year inventory expense
1983 $15,000 overstated $12,500 overstated
1984 5,000 understated 4,000 understated] 6. At December 31, 1983, Mason, Inc., had

100,000 shares of $10 par value common stock
issued and outstanding. There was no change
in the number of shares outstanding during
1984. Total stockholder's equity at December
31, 1984, was $2,800,000., The Net income for
the year ended December 31, 1984, was $800,000.
During 1984 Mason paid $3 per share in dividend
on its common stock. The quoted market value
of Mason's common stock was $48 per share on
December 31, 1984. What was the price-earnings
ratio on common stock for 19847

a. 9.6 to 1. b. 8.0 to 1.

-C.. 6.0 to 1. d. 3.5 to 1.
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